6..3
60cm
f'ck=30N/mma2, / SD345
s=25cm, D16 U
Vd=400kN p4l, (3.5)
Vy d
\V} V.

c

By =31/0.6=1.14

B, =3/100- p, =1.04

A
(pw = bW.S_O.OllsJ
A

fn =1

S

A, =2-D16= 397mm?
o =90°
foy = 345N / mm?

s=250mm
z= jp=600/1.15=522mm

f . = 0.203/30 = 0.62IN / mm?

VC = ﬂdﬂpﬂn fVCde = 133kN

V, = A, f,(sina+cosa)z/s=286kN

V, =V, +V, = 419kN

Vyd

\%

cd

£, = 1y, =23.IN/mm?

\%

sd

fuya = fuy /75 = 345N/ mm?

f., =0.22/23.1=0570N/mm’

Vo = Baf3, B, ficb,d /1.3 = 93.84kN

V,, =(A, f,,(sna +cosa)z/s)/1.15
= 248.7kN

Vo =V, +V,, = 343kN




#1,

Aw 2-D16 2-D16 2-D19
397mm? 397mm? 573mm?
fwd D345 D345 SD390
345N / mm? 345N / mm? 390N / mm?
S 250mm 200mm 150mm
93.8kN 93.8kN 93.8kN
Vod
248.7kN 311kN 676kN
Vsd
343kN 405kN 770kN
Vg =Vy +Vg
V, 1.14—OO =1.28not <1.0 1.1@ =1.09 not<1.0 1.1@ =057<10
Vi 405 405 770




